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Instructions for the candidates :-

1.

wlemeff OMR STR UF% UR 3091 Ued gRA®! HHidb (10 3l &)
araey ford |

Candidates must enter his/her Question Booklet serial No. (10
digits) in the OMR Answer sheet.

oRIeTef ALY 37U T]] H B IR G |

Candidates are required to give their answers in their own words
as far as practicable.

qIfET IR BRI W &Y gU 3fd quries Fifdse &_d 2 |

Figures in the right hand margin indicate full marks.

gel Pl SAYdd UgH @ oy WienRil &1 15 e &1 ifdRad a9
&= T 2 |

15 Minutes of extra time have been allotted for the candidates to

read the questions carefully.
IJg U9 UF I WUSl H g— WUs—3If UG Wus—q
This question booklet is divided into two sections — Section-A and

Section-B



6.

Gus—3 H 70 IS U B, O ¥ B8l 35 YTl BT IR oAl
AT B 1 35 WAl ¥ 3Af¥d BT IR SF W UAH 35 B & HAIDA
BN | Y% & oy 1 3id FEiRT & | 96T SR a9 & g Suae
R T OMR STR—3% # QU U 981 fdded ol et /BTel dfdd U+
A TWe B | ol ff TR & ®EeR /R ISR /<Is /ARG 3
®T OMR STR—UFEG H JANT HRAT AT ©, IAT Uien gRomd M=
BT |

In Section-A, there are 70 objective type questions, out of which

any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. Darken the circle with blue/black ball pen against
the correct option on OMR answer sheet provided to you. Do not
use Whitener/ Liquid/Blade/Nail etc. on OMR Answer Sheet,
otherwise the result will be invalid.

Gus—d H fol 20 g ING Y B, AP U & U 2 3 FeiRd
2, R 3 58 10 Al &1 SR <7 fFad 2| g% SffaRed 59
gug # 6 < IR U R W E, uAF @ forg 5 ofw feiRa €,
S 9 {5l 3 ueAl &1 SR AT Srfvard B |

In section-B, there are 20 short answer type questions, each

carrying 2 marks, out of which any 10 questions are to be
answered. Apart from these, there are 6 Long Answer Type
questions, each carrying 5 marks, out of which any 3 questions
are to be answered.
¥l UPR & Seldei-H—SUHRUT BT YANT Yuidal afid ¢ |
Use of any electronic appliances is strictly prohibited.

Hus—3l (aEfTs 9%)

Section-A (Objective Type Questions)



e W11 9 70 A% B YA U @ fog IR fAwew oy 1y €, R 4
Tdh HE B U RT g9 MY e fdbey 1 OMR-3fic R fufed ax | amuar 35
el @ IR oA 7 | IS gRiemedi 35 ¥ Afd Ui & SR <l ©, I UUH 35 SR
P B S B | (35x1=35)

Question Nos. 1 to 70 have four options, out of which only one is
correct. You have to mark your selected options on the OMR-Sheet. Only
35 questions are to be answered. If the candidate answers more than 35

questions the first 35 answers will be evaluated. (35x1=35)

1. T ¥ BF W U ggfor wfad & € ?

(A) 98 (5)RIENES]
(D) 3R (D) ufg=Tct
Which of the following glands secretes insulin ?
(A) Pituitary (B) Thyroid
(C) Pancreatic (D) Adrenal

2. 8 ¥ P9 #Fd INR &I G99 BT Uy g ?

(A) aTRTSS (B) gy

(D) 3R (D) ufg=Tet

Which of the following is the smallest gland in the human body ?
(A) Thyroid (B) Pituitary

(C) Pancreatic (D) Adrenal

3. guU ¥ B A MM GIdd B 7 ?
(A) eI (B) ufgaa



(D) Egfer (D) SRR
Which hormone is secreted by the testis ?
(A) Thyroxine (B) Adrenal

(C) Insulin (D) Testosterone

I AT U Yad & ga1d Dl AT deal g ?

(A) sTfergas (S)RIENES

(D) foeges (D) 37T & el
Which gland controls blood pressure ?

(A) Adrenal (B) Thyroid

(C) Pituitary (D) All of these

PIF—HT WTET FHg N2 BT I Ad & 7

(A) 99T UG dd (B) %l Td Afeorait
(C) =M Td e (D) SWa H ¥ B ol

Which Food group is an excellent source of fibre ?

(A) Fats and Oils (B) Fruits and Vegetables
(C) Sugar and Jaggary (D) None of the above
B § @ B9 & aeg Sl @ e a8 e ¥ ?

(A) TR (B) dieif @ ufRrif

(D) @rer uered (D) wiiRe®

Which of the following is not destroyed by bacteria ?

(A) Cowding (B) Plant leaves



10.

(C) Food ingredients (D) Plastic
IREB B FIED YART H BT © —

(A) F<T TguoT (B) STt UguoT
(D) arg ygEw (D) Sugac @

is caused by excessive use of fertilizers.

(A) Soil pollution (B) Water pollution

(C) Air pollution (D) All of the above

STH A DA RS &= UG H HRUT & ?

(A) TS T BT (B) s

(D) =T (D) &arg STETST

Which of the following is the cause of excessive noise pollution ?
(A) Vehicles Horn (B) Music

(C) Speech (D) Airplanes

UISTel IE BT A YR Il 3T § 7

(A) g & T (B) aTe

(D) TFHT B 1T B (D) g4

What is the safest way to store drinking water ?
(A) Earthen ware (B) Bucket

(C) Container withlid (D) Drum

ST ¥ B W IR IR YUY & HRT T8 Bl § 7
(A) errr (B) SR



11.

12.

13.

(D) BRI (D) sTerEfes
Which of the following diseases is not caused by air pollution ?
(A) Tuberculosis (B) Asthma

(C) Heart disease (D) Bronchitis

= # e g W 1.S.I. 91% R S © ?

(A) arSSX g8 (B) =

(D) HaRaA (D) @TeEr dd
Which of the following items is marked with I1SI ?
(A) Powder milk (B) Ghee

(C) Butter (D) Edible oil

g W DI A1 Qe fAuTaddr & dRoT g ?

(A) Hspfae wHTE (B) a1 U
(D) ®¥ Ul AT 4o (D) S |+l
Which of these is a reason for food poisoning ?
(A) Infected kitchen (B) Dirty water
(C) Under cooked food (D) All of these

g8 W DI 9T WTe GR&0T BT Hifded avidhl Taf & ?

(A) wrefie (B) Frstefiavor
(D) AreERIHROT (D) fapuas

Which of these is not a physical methods of a food preservation ?

(A) Refrigeration (B) Dehydration



14.

15.

16.

17.

(C) Pasteurisation (D) Fermentation

fFfeiRad & @ fbd TR & i Wi & ®Y H 1 Sl & 7

(A) HIeT (B) PrdieTEsT

(D) faerfa= (D) @fvret

Which of the following is known as the building blocks of the body ?
(A) Protein (B) Carbohydrate

(C) Vitamins (D) Minerals

Ao gerel § I%d 9 @M I Ui & fAdde ol dgd & —

(A) Sregear (B) farctrae

(D) g&ar (D) s & @I

Mixing of cheap non-edible substances in food items is called -
(A) Impurity (B) Adulteration

(C) Purity (D) All of these

godl @& ARIRG e & forg fd dives dw@ & STexd 8l © 7

(A) faetfas (B) g

(D) @rdiErsse (D) wret

What nutrient is needed for the physical development of children ?
(A) Vitamin (B) Fat

(C) Carbohydrate (D) Protein

TABRERT & fory (g, amae iR aToRT H 394 | a7 fetan mar § 2

(A) SU3a (B) s AR TR



(D) @rg &7 7ol (D) g9 & &
Which of these is added to wheat, rice and millets for profiteering ?
(A) Stalk (B) Pebbles and stones

(C) Iron powder (D) All of these

STH A D I & FId & —

(A) & (B) wfserat
PECEERE] (D) gTei

Best source of fat is -

(A) Ghee (B) Vegetables

(C) Milk products (D) Lentils

STel 1 DICVRIZT B & Ty hdD1 TART fbam Siren 2 2

(A) =i (B) TR

(D) forza (D) Prd SrgifavTES
What is used for disinfection of water ?

(A) Sugar (B) Chlorine

(C) Phenyl (D) Carbon dioxide
T Ao @M A B o fARY gt 8 7

(A) 33 SR (B) =i
(D) uferer (D) S99 & |+
Which disease is caused by eating contaminated food ?

(A) Typhoid (B) Diarrhoea



21.

22.

23.

24.

(C) Dysentery (D) All of these

AIYOT 1 HH H DI AT I BIAT § —

(A) EPTST (B) siwrsfew

(D) Tehfa (D) HetfRan
Which disease is caused by nutritional deficiency -
(A) Influenza (B) Bronchitis
(C) Anemia (D) Malaria

s ¥ ST U gRT P9 Al Wal UaH df Sl § ?
(A) ErpThR] (B) ey Sitd
(D) IR |ATg (D) S99 & |1

What service is provided by ICDS ?

(A) Immunisation (B) Health checkup

(C) Referral services (D) All the above
Rrg] & TNIRS fharmera &1 yer oiefor g —

(A) 999 (B) &

(D) e (D) g&=T

The first test of a child’s physical activity is -

(A) Vomiting (B) Diarrhoea
(C) Crying (D) Laughing
5 TR & 9 Fad & forg wataw 8ar g ?

(A) I Gl dred (B) Ure | Fel+l ardl



25.

26.

27.

(D) SWR ¥ T aret (D) i | et dTel
What type of clothes are best for a new born ?

(A) Front opening (B) Back opening
(C) Top opening (D) Bottom opening
FreT 3 O B T STER Ry @ fory T g  ?

(A) f &1 gu (B) Sw @1 gu

(D) T & gYg (D) s7H & |1
Which of the following diet is best for a baby ?

(A) Mother’s milk (B) Powder milk
(C) Cow’s milk (D) All of these
=1 # | DI |1 THiaern wleor g ?

(A) T3 T_teor (B) Yad uxieqor

(D) (A) 3R (B) a1 (D) ST # & HIg e

Which of these is a pregnancy test ?

(A) Urine test (B) Blood test

(C) Both (A) and (B) (D) None of the above

R3] BT S AMBR B Q1 Y HRAT A1y ?

(A) 6 T (B) 3 ®ET
(D) 12 H&IAT (D) 18 HEAT
When to start introducing solid food to a baby ?

(A) 6 months (B) 3 months

10



28.

29.

30.

31.

(C) 12 months (D) 18 months

Rt § sfsarfesi el &1 e fehal 8kl & ?

(A) & (B)

(D) =R (D) df=

What is the number of fallopian tubes in females ?

(A) Two (B) Three

(C) Four (D) Five

T I B W b BRI Gidd Wl © i Tel 3l 8 ?
(A) ST=T ORAT (B) = R

(D) BRIl &1 AWHTs BT (D) &=ad €T

Which of the following daily activities does not come under personal

hygiene ?
(A) Brushing (B) Bathing
(C) Cleaning hands (D) Washing dishes

$TH A DI THIERRI B SRIF B dTell ddhellb & 2

(A) STa IFaa (B) ST &1 fAererr

(D) IR—aR TF AT (D) S99 & |1

Which of the following is a discomfort during pregnancy ?
(A) High Blood Pressure (B) Nausea

(C) Frequent urination (D) All of these

T4 F I G YR § ey FEIRN BT BRI § ?

11



32.

33.

34.

(A) A ve firg] waed (B) 7T

(D) HehTH® AT (D) 37 & &1

Which of these is a reason for health problems in India ?
(A) Maternal and child health (B) Pollution

(C) Infectious diseases (D) All of these
fFrferRad # @9 Hegadi 37 § ?

(A) dre (B) e

(D) retm (D) @&

Which of the following is an intermediate colour ?

(A) Yellow (B) Blue

(C) Red (D) Saffron

T8 W DI el G0 BT HRIT g ?

(A) e Hedl H deraN] (B) &1 MR # fafderar

(D) A ygrIl B T 8F ¥ 9 (D) 378 | 9T
Which of these is a reason for food preservation ?
(A) Increase in value nutritional

(B) Variety in daily diet

(C) Protecting food items from spoilage

(D) All of these

JMER TS W gad eidl & —

(A) S& @I (B) g

12



(D) Sutt B (D) g+ &

Meal planning saves -

(A) Fuel (B) Time

(C) Energy (D) All of these
35.  Siel UguUl fha foly eIfFieR® & ?

(A) 3= (B) SR

(D) Uil H I8+ dTel i (D) e |+l
Water pollution is harmful for -

(A) Humans (B) Animals

(C) Aquatic creatures (D) All of these

36. A HUS W T BT T@ D ST A FhdT & 7

(A) <IN UTSe (B) =g
(D) T (D) =1
Blood stain from artificial clothes can be removed by -
(A) Bleaching powder (B) Lemon
(C) Salt (D) Sugar
37. U T WRITd I T &I o1 A1fey ?
(A) DTS @I fre (B) =g
(D) 13 (D) T4 & &t
What care should be taken while buying readymade garments ?

(A) Type of clothes (B) Size

13



38.

39.

40.

41.

(C) Cost (D) All of these

el U9 AR & aWR W fhd YR & I BT I BT alfeu ?

(A) faery w9 9 feog= foar a1 (B) aRawoIds®
(D) smedE (D) 371 & Wiy

What type of clothes should be chosen on the occasion of party and

festival ?
(A) Specially designed (B) Fairy ornamental
(C) Attractive (D) All of these

Ue g1 qIivier & gl Feol 8 e Wid § —

(A) foorma Tt & (B) aRUM & I |
(D) fiforeics RafRe & (D) 377 & &t
Paint or Varnish stains come off easily by -

(A) Kerosene oil (B) Turpentine oil
(C) Methylated sprit (D) All of these

fereforRaa & | i afde ger 81 g ?

(A) DD (B) Hag=
(D) et (D) ==
Which of the following is not a vegetable stain ?
(A) Coffee (B) Butter

(C) Flower (D) Tea

qbIpRoT g g90idr & —

14



42.

43.

44.

(A) g B TeT] (B) fAetrae

(D) &= & UIR (D) 3774 & PIE e
Standardization symbol indicates -

(A) Quality of material (B) Adulteration
(C) Type of material (D) None of these
HHS D Silel Bl BT DIAT <MY —

(A) Tffe (B) ufy aTe

(D) wfrre (D) wferay
Cleaning of cobwebs should be done -

(A) Daily (B) Weekly

(C) Monthly (D) Yearly

g A P Folde BT Rgid -8l g ?

(A) Sier (B) AT
(D) foRrem (D) ST
Which of these is not the principle of decoration ?
(A) Balance (B) Harmony
(C) Contrast (D) Planning

IR 3T fHedl | edhy S¢ a7 AT HeAT a1y ?

(A) 931 ©T B (B) & &I &Rl
(D) g5 (D) et 3MUBI &

What should you say if you bump into someone ?

15



45.

46.

47.

48.

(A) | am sorry (B) Nothing to say

(C) Laugh (D) It is your fault
AfEe TR # e et g ?

(A) 3SR (B) f&gargr =rforet
(D) tera (D) Ahf

Where does fertilization occur in female body ?

(A) Ovary (B) Fallopian tube
(C) Uterus (D) Vagina
SUHIEIT © YT B I HRUT & —

(A) T T 37T (B) 9 1 HH
(D) fassar g1 7 &l (D) s & &l

The main reason of consumer exploitation is -
(A) Lack of information (B) Lack of knowledge
(C) Cheating by the seller (D) All of these

fr=forRag & @ I PIel & g1 garfled 7 © ?

(A) FeiRRar (B) =7,

(D) PrefoiR (D) Sudad |+l

Which of the following diseases is transmitted by insects ?
(A) Malaria (B) Dangue

(C) Kalaazar (D) All of the above

T BHAR IR BT GRET HRAl & —

16



49.

50.

51.

(A) 9T ¥ (B) Wi &

(D) ast & (D) Suferar <oy
Clothes protect our body from -

(A) Cold (B) Heat

(C) Rain (D) All of the above
Qe fauTadar & A 3MH el qT § 7

(A) Fell Td S (B) R &4

(D) warfr (D) SUgat Wi

Which of these is the most common symptoms of food poisioning ?
(A) Nausea and vomating (B) Headache

(C) Restlessness (D) All of thes above

THTERT & 7GR YOT BT UIYUT Hid AT o7

(A) T (B) féqanfz=h

(D) fereet (D) (A) 3T (B) =T
Which of these nourishes the fetus inside uterus ?

(A) Placenta (B) Fallopian tube
(C) Membrane (D) Both (A) and (B)
HET T BB HHT I BT B 2

(A) 3maTfS (B) g

(D) dfeas (D) reRrm

Goitre is caused by the deficiency of -

17



52.

53.

54.

55.

(A) lodine (B) Iron

(C) Calcium (D) Potasium

e fa faerf®= @1 &1 & SR gar § ?

(A) Rrerfm—t (B) -

(D) faerf—< (D) faeTfir—r

Night blindness is caused by the deficiency of -

(A) Vitamin-A (B) Vitamin-K

(C) Vitamin-D (D) Vitamin-C
fFerfeiaa 5 9 39 A1 ufcRe 89R 3er o1 9 HAGE © ?

(A) SIS gfeReT (B) sfehar ufcrRen

(D) ffSpar wfcrem (D) &ifdfer wfee
Which of the following immunity is present in us by birth ?
(A) Innate immunity (B) Active immunity

(C) Passive immunity (D) Acquired immunity

g H ¥ [ GReTHS UINeh d<d @ w9 H ST Sl © 2

(A) faerfa (B) Wié

(D) @rdiErgge (D)

Which of the following is known as a protective nutrient ?
(A) Vitamin (B) Protein

(C) Carbohydrate (D) Fat

fr=forRaa & & 19 91 T GhrHd © P

18



56.

57.

58.

(A) feefifar (B) e

(D) TTfar (D) PR
Which of the following is a contagious disease ?
(A) Diphtheria (B) Diabetes
(C) Arthritis (D) Cancer

U] IG5l NI & i diF W TR T @ g ?

(A) SiraTerat &1 AT (B) ATdSIS Al B A% IG]
(D) wea™l BT ITINT (D) S99 & |+
What activities are going on under the total Sanitation Campaign ?

(A) Construction of toilets (B) Keeping public places clean

(C) Use of dustbins (D) All of these

g A i @Igg usrf R WHS &1 g sifdea gar g ?
(A) | I (B) o

(D) sram (D) =reqd

Which of these bears Agmark symbol ?

(A) Mustard oil (B) Jam

(C) Pickle (D) Squash/syrup
S8 ¥ DI HIoTH BT I & ?

(A) & (B) ze

(D) TR (D) &4 & &l

Which of the following is a source of Calcium ?

19



59.

60.

61.

(A) Milk (B) Curd
(C) Paneer (D) All of these
J B gells H 579 A b fafafey &1 sraeaerar ugel sl & ?

(A) g1 BT (B) 3R &RAT
(D) & (D) FRHT HRAT

Which of the following activities is required first in the washing of

clothes ?
(A) Removing stain (B) Ironing
(C) Washing (D) Repairing

$TH 9 DI AT e IR | BT U™ T8 BT § 7
(A) Hrafer STHT (B) Sira=t 4T
(D) wfasg ffer (D) &R I yHIOT O

Which of the following investments does not provide income tax

exemption ?
(A) Fixed deposit (B) Life Insurance
(C) Provident Fund (D) National Saving Certificate

3 Ud g H AT D WG fHar S Favar © 2

(A) 95TC & IITHU AT IRD (B) @d BT &H IS

(D) wIRaR® F&aNT | (D) FERSIA W g 7Tl BD
How can balance be established between income and expenditure ?

(A) By spending according to budget

20



62.

63.

64.

(B) By reducing expenses

(C) With family support

(D) By not spending on entertainment

fFfeiRad & 9 &9 199 &1 |99 38T 9rF © ?
(A) I 99d 9H (B) A=

(D) STHIM @I TR (D) 51

Which of the following is the best investment tool ?
(A) National Saving Certificate (B) Gold

(C) Land Purchase (D) House
fHel) g & ST | DI A A9 I Bl 7 7

INEIESISE ) EIERRSIEEIESIES
(D) g ot (D) st

Which gas is produced when something burns ?

(A) Oxygen (B) Carbon dioxide
(C) Nitrogen (D) Ammonia

IJTE YR AT BT ST ATsT T © 2

(A) FEHT HEH WAl Bl 3R (B) U%h PeH Woodl Bl AR

(D) B HEH WAl I AR (D) UESTT HEH Tl Bl AR

What is the tagline of “Swachh Bharat Abhiyan” ?
(A) Everyone’s step towards cleanliness

(B) One step towards cleanliness

21



65.

66.

67.

68.

(C) Every step towards cleanliness

(D) First step towards cleanliness

g4 ¥ BIF g9 H HGQ PRl © 7

(A) ¥& (B) Uit

(D) Site < (D) &4 & Wit
Which of the following helps in saving ?

(A) Bank (B) Post office
(C) Life insurance (D) All of these
YRR ¥ B BT T BRI & 7

(A) Xa BT FHI (B) firt &1 i
(D) SRS BT BHHT (D) HART B B
What are the causes of fatigue in the body ?

(A) Blood deficiency (B) Bile deficiency
(C) Lack of oxygen (D) Calorie deficit
=1 & B Wit ger § ?

(A) ISR ol (B) &

(D) @re®! (D) et

Which of the following is an animal stain ?

(A) Juicy vegetables (B) Blood

(C) Coffee (D) Flowers
g1 | DI USHUT ¥ B dTell MR T8 7 7

22



69.

70.

(A) TIZWIgS (B) &R
(D) ufzrs (D) BT

Which of the following disease is not caused by water ?

(A) Typhoid (B) Tuberculosis
(C) Dysentery (D) Cholera
AMER AT B8 A1l |

(A) asTR® (B) wEen

(D) fafaerar < g2 (D) Sofert &t
Meal planning should be -

(A) Practical (B) Flexible

(C) Diversified (D) All of these

eafy UguUT & HRUT B Fdhd 2 |

(A) S=a Y™ (B) sexmad
(D) arferar (D) =7 el
Noise pollution may cause -

(A) High blood pressure (B) Deafness

(C) Insomnia (D) All of these

23



Yvg — § / Section-B

" I 99 / Short answer type questions

1Y axgfIss u¥/ Non-objective type questions

U AT 1 W 20 oY SN § | fbel 10 Ul b SIR S | ISP U & oIy 2

e fuiRa g1 1 w <féra fewoft o 40 ot # faRau |
(10x2=20)
Question No.1 to 20 are short answer type Questions. Answer any 10

questions. Each question carries 2 marks. Write Short notes on the

following in approximately 40 words. (10x2=20)

1. ®oR od 2
Hard water

2. MR 2
Uterus

3. YA HRET 2

Consumer protection

4. Hhal 2
Mildew
5. STl T IR 2

Conservation of water

6.  Wgferd 3MER 2

Balanced diet

24



10.

11.

12.

13.

14.

15.

16.

17.

gTRaTRe HaTE
Family Resources

TEYARTT I BT AT

Selection of clothes used in home

SSIND

Ovary

RICZAGT)

Nutrients

SRIEICNIG]

Washing Machine

AT T B HUB

Collection of woollen clothes

OIeH & BRI
Functions of proteins
UTeeRISOIeA
Pasteurization

e ool

Flower decoration
aRAR TS

Family Planning

el B TBR

25



Types of stains

18.  Tfeoll & #ife wrd 2
Monthly work of a housewife

19.  HUIYI 2
Malnutrition

20. 3RS Fool 2

Interior Decoration

& o g

Long Answer Type Question

Ue |1 21 W 26 P 4 IR § | 39 BIfC & YD U & foQ Ufg ik
FEiRa €1 fF=l 3 Ul & ITR < | MU YAl & IR T 100 W&l H T |
(3x5=15)
Question Nos 21 to 26 are long Answer Type. Each question carries 5
marks. Answer any 3 questions. Write your answers in approximately 100

words. (3x5=15)

21, AT BT SN SidT H RIT Ag<d g ? goi Y | 5

What is the importance of food in our life ? Describe.

22, HUSI ® HIT A Yd H R 7 ? 5

What are some rules for storing clothes ?

23, 9RA H el H AT TR BT FHRME R gREd © ? 5

Why is it difficult to solve the problem of open defecation in India ?

26



24.

25.

26.

goTaA fohaT | 3iSargl Afofdl & IRTETH BT Iui+ o | 5

Describe the role of fallopian tubes in reproduction.
goIc W 3T AT FHSA & ? SO B dTel oIt &I quid o | 5

What do you understand by budget ? Describe the benefits of it ?
YA ER P WT—ATOHT 9 FHI MM fh=—fh= a1ai R & < 25

What are the factors you will keep in mind while planning the colours

of your home ?
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